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1-  The following conversation can be considered a case of --——-———-—— ;
A: You left the light on.
B: Sorry. I thought you needed it.

1) adstratum 2) adjacency pair
3) covert preslige 4) perlocutionary [oree
2-  The following ideas run contrary to --------—----

“Peaple with the same language change their war!t! view aver time.™
“Lack of vocabulury does not indicate lack of concepts.”
“Multilinguals’ view of nature.”

1) building codes 2) semiotic landscape
3) high-rising terminals 4) linguistic determinism
3-  When a young child considers “shoes” to refer to a specific pair they have, it can be
called a manifestation of ---—--—--—-- ;
1) diacritic 2) extension
3) underextension 4) principle of compositionality
4-  The following excerpt contains a case of ----—--—---- ;
This is how you do it. You let the herbs dry and then grind them up in a food processor.
1) cataphora 2) obfuscation
3) pro-dropping 4) encoding convention

3-  What speech crror occurs in the following sentenee?
Take the dictionary and put it in the cook case. (instcad of book casc).
1) Lxchange 2) Spoonerism
3) Anlicipation 4) Preservation
6-  Which of the following items contains an illocutionary act?
1) Why don’t vou scc a doctor? You can gel worse.
2) I am supposcd o meet you then and there,
3) Is there a page missing? I need to copy il for vou.
4) Winston Churchill promised to win the war, and win the war he did.

7-  The tact that there is not cnough information in the language samples given to children
to fully account for the complexity and richness of their language is referred to as -----—--.
1) linguistic productivity 2) word-supcriority clTect
3) agrammaticality tolerance 4) poverty of stimulus argument

8  What cohesive device is used in the following piece of text?

In preparing a palatable quiche for Indian visitors, mild herbs and spices are not
recommended; chili and cayenne are advisable.
) Eponymy 2) [lyponymy 3) Meronymy 4) Entailment
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Consistent aura of meaning with which a form is imbued by its collocates, nsuoally
through repeated use, is referred to a8 —-—--=-cea—-,

1) evaluative lunction 2) diachronic process

3) semantic prosody 4) concordance

What kind of metaphor is employed in the following sentence?

Any nofice of termination must be in writing, give the required period of notice and set out
the grounds foe termination (if any).

I} Interpersonal 2) Experiential

3) Conceptual 4) T'extual

Which quality of human languages does the comparison of the words “con” and
“knock” reveal?

1) Discreteness 2) Displacement
3) Recursiveness 4) Imbeddedness
In the consideration of register, ----—---—---- is “the total event, in which the text is

functioning, together with the purposive activity of the speaker or writer and includes
subject-matter as one of the elements™.

1) mode 2) field 3) tenor 4) genre

In the sentence “Jessica said that Bill did the shopping vesterday.”, the adverb yesterday
is NOT assigned to Jessica said by ------—--—--—- :

1) minimal attachment strategy 2) constraint-based model

3) immediacy principle 4y late closure strategy

The word batfer is comprchended as a meaningful string of sounds more readily when
preceded by the word bread than faculty. This phenomenon is an instanee of ——-—--—-—- ‘

1) word-inilial cohort 2) semantic priming

3) synlactic lrequency 4y lexical precedence

The fact that there is no onec-to-one correspondence between acoustic cues and stimuli
on the one hand, and hearers’ perceptual cvents, on the other hand, has been termed as

1) phonotactics 2) lack ol invariance

3) categorical perception 4y noncategorical pereeption

The grammar adequacy criterion which goes bevond the ability to describe patterns in a
language and involves the ability to explain the role of linguistic universals in language
acquisition is referred to as —--—--—-—-—-—,

1) derivational theory 2) descriptive adequacy
3) explanatory adequacy 4) observational adequacy
The sentence “I'll make up for yvour luss.” is —--------—-- ’

1) directive 2) expressive

3) declarative 4) commissive

In the sentence “Shakespeare wrote most of his tragedies towards the end of his life.”,
the elements Shakespeare, most of his tragedies and towards the end of his life involve the
Cases —-—--—----—-,

1) accusative. benefactive, temporal 2) causative, objective. locative

3) agentive. factitive, temporal 4) agentive, dative, locative
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Which item is corrcet with regard to presuppositions?

1) John [ound a veterinarian for his cat: pragmatic presupposition, semantic presupposition

2) Corporate subsidics and tax culg should be donc away with by the said company:
pragmatic presupposition

3) John bought a more recently published book for the exam: NO pragmatic presupposition

4) Samantha patented her new invention: NO semantic presupposition

Ima - , the tip of the tongue simply moves up to contact the roof of the mouth

in the dental or alveolar region, and then moves back to the floor of the mouth along the

same path.

1) laminal 2) dorsum 3) tap 4) flap

LEvidence-centered design (ECD) used in test development and validation belongs to the

------------- approach to language testing.

1) critical 2) authentic 3) systematic 4) psyvchometric

Which of the following is NOT a valid argument for integration of language skills while

assessing them?

1) Language can be defined as an overarching ability. rather than as separate components.

2) Grammatical and lexical competences do not have any psyvchological reality.

3) Skill integration is important lor authentic language usc,

4) Somge processes involved in language skills are shared.

Which statement is TRUE about the weak form of sccond language performance

assessment?

1) Language is the means [or fullilling the task reguirements rather than an end in itsell

2) Assessment is made on the basis of the exient o which the actual task itscll has been
achieved.

3) Tasks are used to elicit language to reflect the kind of real-world activities learners will
be expected to perform.

4) The focus of the assessment is less on the task and more on the language produced by
the candidate.

Kramsch has recently expanded the constructs of communicative competence and -----—---

competence to what she has termed ----------—--- competence,
1) svmbolic, interactional 2) interactional, symbolic
3) interactional, interlinguistic 4y interlinguistic, interactional

Which statement is NOT truc bascd on the following listening comprehension test item?

A: Hello Rita. This is Mr. Smith at the office. Is John feeling any better today?

B:0h yes, Me, Smith, He's feeling much better now. But the doctor says he’ll have to stay
int bed until Monday.

Question: Where is John now?

() At the office (B) On his way to work

(C) Home in bed (D) Away on vacation

1) Choice C is a completely faulty item because John's bed is obviously in hospital.

2) John's location cannot be derived solely from the linguistic context of the input.

3) Choice C is designed to measure the ability to decode meaning by mapping it onto
an extralinguistic conlexi.

43y This (est item could have been a clearcer example ol meaning extension had choice
(C) been worded “At home™,
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The most recent aptitude test Hish-Level Language Aptitude Battery (Hi-LAB) measuores

three areas of -———ceoeeeeec .

1) grammatical scnsitivity, inductive learning, and phonctic sensitivily

2) morphological sensitivity, working memory, and inductive learning

3) executive functioning. memory. and phonemic awareness

4) cognitive sensitivity, memory. and phonemic awareness

Alternative assessment is rooted in a cultural, epistemological, and axiological

perspective that is fundamentally different from that of traditional testing in all of the

following cases EXCEPT ------—------- L

1) multiple assessment procedures

2) the emphasis on learning products or scores

3) the unplicit nature of stakeholder relationships

4} the requirements for reliability and arguinents for validity

In the past, the testing of listening comprehension was limited to the examiner’s oral

presentation of linguistic input, either live or prerecorded, to a room full of examinees.

Which contribution from technology te language assessment is likely to have solved this

problem?

1) Corpus linguistics is used to inform the design and validation of language assessments.

2) Technology has recently prompted test developers o reconsider the constructs that they
lest,

3) Natural language-processing lechnologics are being used (or evaluating leamery’
spoken and written language.

4) By evaluating examinees’ responses immediately as they are entered. a computer-
adaptive test avoids items that are either too easy or too difficult.

Within the network of inferences linking test performance to a score-based

interpretation and use, the extrapolation inference connects ------—------ :

1) an ohserved score to a true score and assumes that performance on language tasks is
consistent across similar tasks in the universe, test forms, and occasions

2) test performance to an observed score. hinging on the assumptions that performance
on a language test is obtained and scored appropriately to measure intended
language abilities

3) test tasks Lo test performances and is based on the assumption that lest tasks arc
relevant to and representative of real-world tasks in the target domain

4) the theoretical score interpretation 1o the domain score interpretation and is bascd
on the assumption that a theorctical construct accounts lor performances on test
tasks

The arpument-bascd approach to validation is suited for ———--eace-e—- 5

1) diagnostic, dynamic, and sicalth asscssments

2) classroom-bascd assessment and lor local usc of standardized assessments

3) contexts where the priority is to provide useful information for score users to make
decisions that have medium to heavy consequences on test takers

4) situations where assessment is relatively unimportant for test takers and providing
information for score users is not of paramount importance
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All of the following are TRUE about the interviewer and the candidate’s co-constructed

discourse in an interview EXCEPT that -—----------- i

1) as & genre, language assessment interviews do not share fcatures with conversations
and so arc characteristically not instances ol interviews ol a distinetive Kind lor the
participants,

2} 1est takers do not always producce the sorls of language or use it in ways that the 1cst
developers predict intuitively in test design.

3) interviewers, through their talk and behavior, bring unpredictability into the encounter,
and hence threaten test reliability.

4y pair and group test talk has been shown to be influenced by gender, personality,
proficiency, and acquaintanceship.

Which of the following statements is TRUE about dynamic assessment?

1) Through a process ol corrective [Cedback. an analysis of learner development cmerges
that includes abilitics that are minmmally [ormed. as indicated by lcarner independent
performance.

2) Through a process of corrective feedback. a diagnosis of learner development emerges
that includes abilities that are minimally formed, determined by learner responsiveness
during the mediating process.

3) Through a process of mediation, an analvsis of learner development emerges that
includes abilities that are still emerging, as indicated by learner independent
perlormance.

4y Through a process ol mediation, a diagnosis ol learner development cmerges that
includes abilities that are [ully formed, determined by learner responsiveness during the
mediating process.

In the following item, which test-wiseness cue could be applied to answer it withount

understanding the test item?

Question: The increased forcign awareness of Filanthropia has —-—----—-—- :

{A) resulted in its relative poverty

(B) led to a tourist burcau investigation

{C) ercated the main population eenters

() causcd its extreme isolation

1) [tem giveaway 2) Similar options

3) Stem-option cuc 4) Grammatical cuc

The assumptions of strictly parallel items osed in classical test theory arc that they must

mect all of the following conditions EXCEPT - i

1) having equal variances

2) being related to some true score

3) being independent of true scores in terms of error

4) being equally good indicators of observed scores

Which of the following statements is TRUE?

1} ‘The relationship between the probability of a test taker answering an item correctly and
the test taker’s ability can be presented in graphic form in an item characteristic curve.

2) The relationship between the probability of a test taker answering an item correctly
and the test taker’s knowledge can be presented in graphic form in an ilem
charactleristic value.

3) The relationship between the probability of a test taker missing an item and the Lest
taker’s knowledge can be presented in graphic form in an item characteristic value.

4) 'The relationship between the probability of a test taker missing an item and the test
taker’s ability can be presented in graphic form in an item characteristic curve.
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36- Which of the following statements is TRUE?
1) The term trait-based measurement is used in a norm-relerenced context where the
aim is 1o ¢lassily lcarners as masters or non-masters ol a domain ol knowledge.
2) The term dependability is used in a criterion-referencing context where the aim is to
classify learners as masters or non-masters of a domain of knowledge.
3) The term reliability is used in a criterion-referencing context where the aim is to
classify learners as qualified or non-qualified.
4) The term dependability 15 used in a norm-referenced context svhere the aim is to
classify learners as qualified or non-qualified.
37- Practicality in the context of language testing is defined as -—-----—--- .
1) ease of administration divided by ease of scoring
2) case ol scoring divided by case ol administration
3) required resources divided by available resources
4) availablc resources divided by required resources
38- When the relationship between input and response is adaptive, -—--—---———--- :
1) intcraction is absent but [eedback s present
2) interaction is present but leedback is absent
3) hoth elements of feedback and interaction exist
4) the two elements of feedback and interaction are both absent

39-  Decisions that falsely put test takers on the failing side of the cut-point are ------—------- :
1) impact implications 2) value implications
3) false negatives 4) false positives

40- Washback can vary along the two dimensions of ------—-—---- A

1) kind (positive or negative) and degree (from strong to weak)
2) kind (positive or negative) and practicality (usetul or harmitul}
3) practicality (usclul or harmlul) and utlity (high or low)

43 degree (lrom strong o weak) and ulility (high or low)

41- This is an incompleie reference, The edition and the place of publication are missing,
Choosc the correctly punctuated format for the missing information from the choices
below.

Braze, D. & Baton, J. (2011). Commaunity wellness: Healtheare in practice edition place
Elsevier,

1) 5™ ¢d. Brisbane, Australia

2) (5" cd.). Brisbane, Australia

3) (5" ed.). Brisbanc. Australia;

4y 5™ edition, Brisbane, Australia:

42-  What does partial cta squared tell us?

1Y I there 1s a significant dilference between groups in the study.

2) If data from dependent variable is normally distributed across groups.

3) llow much of the variance in the independent variable can be accounted for by the
dependent variable.

4) ‘I he amount of the variance in the dependent variable that can be accounted for by
the independent variable.
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Levene’s test determines if there is equality of variances among the groups or not. In

order to run an ANOV A, the test must be —ccccemeeeeee|

1) non-significant and above .05

2) non-significant and below .03

3) significant and above .05

4) significant and below .03

What is the term used for the design in which a single group of participants is measured

several times both before and after a manipulation?

1) single-subject design

2) between-subjects designs

3) interrupted time-series design

4y general quasi-experimental design

A study is carried out to compare offenders with non-offenders on their levels of coping.

Which of the following statements is true about this study?

1) There are two independent variables: males and females, and one dependent
variable. which is level ol coping.

2) The independent variable is type el person and the dependent variable is their Ievel
ol coping,

3) The independent variable 1s coping and the dependent variable is type ol person.

4) Both variables are dependent as the researcher cannot manipulate them.

Which of the following is FALSE?

Using a within-participants design means that ---------- ;

1) different people are tested in each condition of the 1V

2) vou get participants to complete all the various experimental conditions but in
different orders

3) it provides for a more sensitive test of the differences between conditions because it
controls for ditferences between individuals

43y the same people can be measured twice on the dependent variable

How many independent variables arc there in a 2*#3*4 design?

1)1 2)2 3)3 4) 4
Normal distribution is symmetric about -—--—--—----,
1) mean

2) variance
3) covariance
4) standard deviation
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49-  Which of the following is a negatively skewed curve?

Histogram

Histogram
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Which of the following is FALSE?

1) cological validity reflers to the applicability ol [indings Lo the real world.

2) Compared Lo other rescarch designs, experiments have more external validity.

3) If a measure correlates highly with other established measures of the same thing, it
1s said to have high criterion validity.

4) Extraneous variables are variables that if not controlled may affect the DV and
provide a false impression that an 1V has produced changes when it hasn’t.

Which of the following refers to ordinal variable?

1} A variable that has an infinite number of values between any two values.

2) A variable determined by categories which cannot be ordered. e.g.. color.

3) A variable in which both order of data points and distance between data points can
be determined.

4) A variablc in which the order ol data points can be determined but not the distance
between them.

Which of the following is not true about quantitative rescarch?

1) It ofTers postulating new hypotheses based on the rescarch lindings.

2) Quantitative rescarch lollows the top down approach.

3) [t does not account for people’s perceptions about what you're evaluating.

4) [t follows a deductive method.

Which of the following is related to limitations in a research?

1) Actions that aim to narrow the scope of a study.

2) Challenges faced by the researcher beyond his control.

3) The methodological procedures the researcher will not use.

4) Boundaries set by the researcher in order to control the range of a study.

A researcher randomly assigns 60 LEFL students into three equal size groups

(carly-morning, afternoon, evening) to deferming if the time at which they study has an

cffect on their learning. In working out his ANOVA table, he secs that the MS (Mcan

Squares) within groups is larger than his MS between groups. What doces this resnlt show?

1) An crror in the calculations was made.

2) There should have been additional controls in the experiment.

3) There was more than the expeeted amount of variabilily between groups.

4) There was more variability between subjectls within the same group than there was
belween groups.

If the average of a series of values is 10 and their variance is 16, the coefficient of

variation (the standard deviation / average) i8 --—--—--—--—,

1) 10% 2) 20% 3)40% 4) 80%
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Which of the following is true about these scatterplots?

1) Scatter plot A, r— .91; scatter plot B, r — .83; scatter plot C, r — -.06; scatler plot D,
r—.65

2) Scatter plot A, r = .91; scatter plot B, r = -.83; scatter plot C. r = .06, scatter plot .
r=.65

3) Scatter plot A, r — .91; scatter plot B, r — .85; scatter plot C. r — .06; scatter plot D.
r—-.65

4) Scatter plot A, r — -.91; scatter plot B. r — .85; scatter plot C. r = .06; scatter plot D,

r=-.65 Scatterplot A Scatterplot B

2348667819

+1 123456789

Secatterplot C Scatterplot D
Y ¥

0 0

g 8

7 f S

B : 6

5 > 5 e

4 4 .

3F 3Te -3 i

2 2 E s »

1t ' 1 ®

1234567879

If there is a very strong carrclation between two variables, then the correlation
coctticient must he -—=—=-maeeee,

1y any valug smaller than 1

2) any value larger than |

3) much larger than 1, if the correlation is positive

4) much smaller than 0, if the correlation is negative

Which of the following is FALSE?

1) Internal validity checks whether the results of a study can be generalized bevond the
specific research context.

2) Reliability means that the measures devised for concepts are stable on different
occasions.

3) Qualitative research often takes an in-depth, holistic approach to events.

4y The coetficient of determination and the R-squared {R2) are the same.
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Which of the following data collection methods is not normally used in qualitative
rescarch?

1) Focus groups 2) Participant observation
3) Questionnaire 4) Semi-structures interview
Which of the following can be the source of primary data in research?

l) Survey 2) Experiment

3) Survey and reference 4) Survey and experiment

Which misconception about task-based language teaching is reflected by the statement

that “it is impossible to plan a language course based on tasks-as-workplans™?

1) Task has no construct validity.

2) lasks result in impoverished language use.

3) There is no clear definition of the term “task™.

4y Task-based language teaching neglects grammatical accuracy.

All of the following are practical problems associated with task-based teaching

EXCEPT that ----------—--.

1) sometimes tasks end up as practice rather than atfording opportunities for genuine
commuinicalion

2) it encourages the “inpul [irst principle” for beginning level learners by cmphasizing
input-based tasks

3) it is likely to threaten the cstablished role of teachers by assigning them reles such
as co-communicators rather than sources of knowledge

4) at times discipline challenges arise because of the tension between the need to get
the students talking and the need to maintain classroom discipline

Which of the following is an advantage of an analytic approach to L2 teaching that

focuses purely on meaning?

1) It assumes that the capacity for implicit learning remains strong in adults.

2) As a result of possessing an L 1. learning from positive evidence alone will no longer
suffice.

3) It frees the learners from the psvcholinguistically unrealistic timetable in the form
ol an cxternal syllabus.

4) Implicit lcarning takes time. and language (caching nceds to be cllicicnt, not just
minimally nceeessary and sullicient.

What typc of feedback is the NNS provided with in the following exchange?

NNS: Mcexican food have a lot of uleers.

NS: Mcxicans have a lot of ulcers?

1) Explicit, input-providing 2) Implieit, output-prompting

3) Implicit, input-providing 4y Lxplicit, output-prompling

Drawing on the idea of limited processing capacity, Skchan proposed that L2 learners

POSSCSS ——mmmmmmmmee y

1) two systems that cxist independently ol cach other — a rule-based system and a
complex adaplive system

2) two sources of knowledge that coexist  procedural knowledge and declarative
knowledge

3) two sources of knowledge that exist independently of each other  procedural
knowledge and declarative knowledge

4) two systems that coexist — a rule-based system and an exemplar-based system
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All of the following arc features of forms-focused materials EXCEPT that they -————--—-—.

1) locus on teaching a predetermined language item or language (calure

2) incorporate activities that illustrate or provide practice in various language items or
language features

3) are built on the theory that by iscolating a teaching point, it is made salient and hence
the learning experience is facilitated

4} incorporate activities that engage learners in understanding the meaning of texts and
on communicating meaning to others

The curriculum model in which the output of one stage serves as the input of the next iy

the --—----------- model.

1) waterfall 2) collateral

3) lavers of necessity 4y focused opportunistic

The approach to gaining fluency which involves gaining repeated practice on the same
material so that it can be performed with ease is the ----————-—-- approach,

1) richness 2) junglc path

3) well-ordered 4y well-beaten path

According to Nation, the three key conditions which inereasc the quality of vocabulary
learning in the casc of direct learning are ----—---—-———-,

1) input, intake, and gencrative use

2) noticing, spaced retricval, and generative use

3) noticing, meaning-focused input, and meaning-focused output

4) meaning-focused input. meaning-focused output, and language-focused instruction

Which of the following is NO'T a restructuring activity?

') Checking off from a list. expressions that ocecurred in the text

2) Dialog practice based on dialogs that incorporate items from the text

3) Rele plays in which students are required to use key language from the texts

4) Written sentence-completion tasks requiring use of expressions and other linguistic
items that occurred in the texts

Hyland argues that scaffolding materials for teaching writing are --—----—--—-,

1) concerned with knowledge rather than practice

2) used 1o present good examples ol a genre and illustrate its particular [catures

3) bascd on the principle that an awarcness ol texts lacilitates writing development

4) commonly used to involve leamers in thinking about and using language by provoking
idcas

The suitable approach to foster speaking skills and natural spoken interaction based on

the grammar of spoken language involves the three stages of --—-------—- ’

1) engage. study, and activale

2) presentation, practice, and production

3) illustration, interaction, and induction

4y clarification and focus, restricted use, and authentic use

According to Rost, the listening activities that require learners to give short verbal and

non-verbal responses to the speaker in a real-time interaction belong to the category of

------------- listening,

1) selective 2) attentive 3) intensive 4) interactive
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What arc teachers advised to do when all the linguistic constructions that students need

to lcarn are not available in the lanpguage that oceurs in the elassroom?

1) Ingicad of thinking in terms ol a grammatical sequence, they should think ol a grammar
checklist.

2) They should think of adopting a garden path strategy in which they give students
information about a construction without giving them the tull picture.

3) Instead of teaching rules which are mostly arbitrary and ignore the meaning and use
dimensions in grammar teaching, they should focus on reasons.

4) Rather than working on rule learning and rule application, they should use input
processing activities that push learners to attend to properties of language.

Which of the following statements is NOT true about teaching English as an International

Language (EIL)?

1) EIL learners do not have to internalize the cultural norms of English speaking countries.

2)Successlul bilinguals with interculiural insights and knowledge should serve as pedagogic
modcls in EIL rather than the monolingual native speaker.

3 LI instructional materials should have suitable discourse samples pertaining 1o both
native and nonnative speaker interactions and nonnalive and nonnative spcaker
interactions.

4)'The Ell. pedagogy should aim at global appropriation and local appropriacy in which
students should be an efficient speaker of local English.

Sociocultural norms, worldviews, beliefs, assumptions, and value systems that find their

way into language are dimensions of -------—------,
1) big C Culture 2) visible culture
3) small ¢ culture 4y mvisible culture

The six T's Approach in theme-based model of content-based instruction includes --—----- a

1) themes. topics, texts, threads. tasks, and transitions

2) themes, threads. time. tasks, tests, and transactions

3) themes. topics, (exts, lasks, tests, and transitions

4) themes, topics, Lexts, lasks, tvpes, and lokens

Which of the following is NOT truc as a motivational principle?

1) There is much more to molivational strategics than ollering rewards and punishments.

2) Generating student motivation is not enough in itsell’ — it has to be maintained and
protected.

3) It is the quality {not the quantity) of the motivational strategies that the students use
that counts.

4) 'T'he ought-to 1.2 self which concerns the 1.2-specific facet of the learner’s self should
be given more prominence than the ideal 1.2 self.

Which statement shows a learner who possesses a synthetic learning styvle?

1) [ learn better by summarizing what has been said.

2) [ learn better if | see new words, structures, or ideas in context.

3) [ learn better by mastering the language rules before applying them.

43T learn better by figuring out the rules from examples in the language.
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All of the following are TRUE about the usage-based approaches to Second Language

Acquisition EXCEPT that ---—--—-e—-—-

I)human language capacilics arc lhaughl o result from the extraction of statistical
patierns [rom the input

2) human cognition arises from the material, social, cultural, and historical contexts in
which human experience is embedded

3) they describe language learning as an implicit inductive task

4) they are committed to incidental learning and unconscious representations

Which statement is TRUL about Processability Theory of Second Language Acquisition?

1) Learners come to know more than what they have been exposed to in the input.

2) Learners are more likely to process meaningful granunatical markers betfore
nonmeaningtul grammatical markers.

3) Al any stage ol developmenl the learner can produce and comprehend only those L2
linguistic forms which the current state of the language processor can handle,

4) Learncrs will process lexical items lor meaning belore grammatical forms when
both encode the same semantic inlformation.

In which strategic approach to tecaching reading do students relate hackgronnd

knowledge to the text, determine goals for reading, and then engage in predicting

activities?

1) Experience-1ext-Relate (E1TR)

2) Question-Answer-Response (QAR)

3) T'ransactional Strategies Instruction ('I'S[}

4) Directed Reading and Thinking Activities (DR I'A)

The hypothesis that learners will have difficulty in focusing on all aspects of production

(complexity, accuracy and fluency) at the same time is regarded as the -——----—--—- .

1} cognition hypothesis proposed by Peter Skehan

2) trade-oft hypothesis proposed by Peter Skehan

3) trade-oft hypothesis proposed by Peter Robinson

4) metacognition hypothesis proposcd by Peter Robinson

According to Tomlin and Villa’s Theory of Attention, the three distinet attentional

Processes are —-—-—--——---—-- '

1) intention, oricntation, and deicction

2) aleriness, orientation, and detection

3) aleriness, noticing the gap. and noticing the hole

4) intention, notiging the gap. and noticing the hole

The process of making meaning and shaping knowledge and experience through

language is known a8 --——--ommaeeo,

1) grammaring proposed by Larsen-Treeman

2) languaging proposcd by Larsen-Ireeman

3) languaging proposed by Swain

4) grammaring proposed by Swain

All of the following are features of explicit instruction EXCEPT that it ----------—-- .

1) is predetermined and planned 2) uses metalinguistic terminology

3) presents target forms in isolation 4) attracts attention to the target form
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Which of the following statements is TRUE?

1) Consciousness-raising is an implicit [orm ol instruction which supports the strong
interface position.

2) Consciousness-raising is mainly an inductive form of instruction which supports the
weak interface position.

3) Input-processing instruction is a deductive form of instruction which supports the
weak interface position.

4) Input-processing instruction is an implicit form of instruction which supports the
strong interface position.

Levelt's model of speaking involves four overlapping operations of ------------- .

1) conceptualization, formulation, articulation. and monitering

2) organizalion, lormulation, articulation, and utilization

3) conceptualization, pereeplion, parsing, and utilization

4) formulation, noticing, articulation, and monitoring

Which of the following shows an ctie, intrusive way of gathering classroom information?

1) The teacher conducts student locus groups.

2) The teacher keeps a diary ol his daily tcaching.

3) A large videocamera is placed in the front of the classroom.

4) A trained observer watches the video-recording of a lesson.

The parameter of practicality in Kumaravadivelu's postmethod pedagogy -----—--—-—--—-- ’

1) aims for a personal theory of practice generated by the practicing teacher

2) is based on the belief that any language teaching program is unique and has its own
charaeteristics

3) is intended to empower students by giving them freedom to reflect on the way they
are being taught

4} is based on the assumption that there are potential mismatches between teacher
intention and learner interpretation
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